
� No.311-10 �

No.311-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 10
11

+ 10
11

= (2) 2
13

+ 9
13

=

(3) 11
12

+ 1
12

= (4) 3
7

+ 1
7

=

(5) 11
18

+ 1
18

= (6) 1
12

+ 5
12

=

(7) 1
16

+ 9
16

= (8) 7
10

+ 3
10

=

(9) 3
14

+ 11
14

= (10) 13
20

+ 7
20

=

� 13th-note �



� No.311-10 �

No.311-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 10
11

+ 10
11

=
20

11
(2) 2

13
+ 9

13
=

11

13

(3) 11
12

+ 1
12

= 1 (4) 3
7

+ 1
7

=
4

7

(5) 11
18

+ 1
18

=
12

18

„
=

2
3

«
(6) 1

12
+ 5

12
=

6

12

„
=

1
2

«

(7) 1
16

+ 9
16

=
10

16

„
=

5
8

«
(8) 7

10
+ 3

10
= 1

(9) 3
14

+ 11
14

= 1 (10) 13
20

+ 7
20

= 1

� 13th-note �



� No.311-20 �

No.311-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 5
14

+ 5
14

= (2) 11
12

+ 7
12

= (3) 3
14

+ 3
14

=

(4) 10
17

+ 14
17

= (5) 1
10

+ 1
10

= (6) 4
9

+ 4
9

=

(7) 5
9

+ 5
9

= (8) 4
7

+ 1
7

= (9) 7
10

+ 7
10

=

(10) 1
10

+ 9
10

= (11) 6
11

+ 10
11

= (12) 1
15

+ 13
15

=

(13) 7
13

+ 11
13

= (14) 4
17

+ 14
17

= (15) 7
16

+ 11
16

=

(16) 5
12

+ 5
12

= (17) 1
11

+ 9
11

= (18) 3
10

+ 7
10

=

(19) 15
17

+ 13
17

= (20) 5
17

+ 12
17

=

� 13th-note �



� No.311-20 �

No.311-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 5
14

+ 5
14

=
10

14

„
=

5
7

«
(2) 11

12
+ 7

12
=

18

12

„
=

3
2

«
(3) 3

14
+ 3

14
=

6

14

„
=

3
7

«

(4) 10
17

+ 14
17

=
24

17
(5) 1

10
+ 1

10
=

2

10

„
=

1
5

«
(6) 4

9
+ 4

9
=

8

9

(7) 5
9

+ 5
9

=
10

9
(8) 4

7
+ 1

7
=

5

7
(9) 7

10
+ 7

10
=

14

10

„
=

7
5

«

(10) 1
10

+ 9
10

= 1 (11) 6
11

+ 10
11

=
16

11
(12) 1

15
+ 13

15
=

14

15

(13) 7
13

+ 11
13

=
18

13
(14) 4

17
+ 14

17
=

18

17
(15) 7

16
+ 11

16
=

18

16

„
=

9
8

«

(16) 5
12

+ 5
12

=
10

12

„
=

5
6

«
(17) 1

11
+ 9

11
=

10

11
(18) 3

10
+ 7

10
= 1

(19) 15
17

+ 13
17

=
28

17
(20) 5

17
+ 12

17
= 1

� 13th-note �



� No.313-10 �

No.313-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 1
2

+ 5
6

= (2) 5
6

+ 5
3

=

(3) 3
2

+ 1
6

= (4) 1
6

+ 3
2

=

(5) 4
3

+ 5
6

= (6) 5
2

+ 5
4

=

(7) 1
6

+ 1
4

= (8) 5
6

+ 2
3

=

(9) 1
4

+ 1
6

= (10) 3
4

+ 4
5

=

� 13th-note �



� No.313-10 �

No.313-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 1
2

+ 5
6

=
4

3
(2) 5

6
+ 5

3
=

5

2

(3) 3
2

+ 1
6

=
5

3
(4) 1

6
+ 3

2
=

5

3

(5) 4
3

+ 5
6

=
13

6
(6) 5

2
+ 5

4
=

15

4

(7) 1
6

+ 1
4

=
5

12
(8) 5

6
+ 2

3
=

3

2

(9) 1
4

+ 1
6

=
5

12
(10) 3

4
+ 4

5
=

31

20

� 13th-note �



� No.313-20 �

No.313-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 1
5

+ 5
4

= (2) 7
4

+ 3
5

= (3) 4
3

+ 7
4

=

(4) 1
2

+ 5
6

= (5) 5
3

+ 5
6

= (6) 1
3

+ 5
6

=

(7) 7
4

+ 1
2

= (8) 1
2

+ 1
4

= (9) 1
4

+ 1
2

=

(10) 3
2

+ 7
4

= (11) 5
2

+ 1
6

= (12) 3
4

+ 1
2

=

(13) 1
6

+ 2
3

= (14) 1
2

+ 1
6

= (15) 2
3

+ 5
6

=

(16) 1
5

+ 2
3

= (17) 5
3

+ 1
2

= (18) 2
5

+ 5
3

=

(19) 1
6

+ 3
2

= (20) 4
3

+ 1
2

=

� 13th-note �



� No.313-20 �

No.313-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 1
5

+ 5
4

=
29

20
(2) 7

4
+ 3

5
=

47

20
(3) 4

3
+ 7

4
=

37

12

(4) 1
2

+ 5
6

=
4

3
(5) 5

3
+ 5

6
=

5

2
(6) 1

3
+ 5

6
=

7

6

(7) 7
4

+ 1
2

=
9

4
(8) 1

2
+ 1

4
=

3

4
(9) 1

4
+ 1

2
=

3

4

(10) 3
2

+ 7
4

=
13

4
(11) 5

2
+ 1

6
=

8

3
(12) 3

4
+ 1

2
=

5

4

(13) 1
6

+ 2
3

=
5

6
(14) 1

2
+ 1

6
=

2

3
(15) 2

3
+ 5

6
=

3

2

(16) 1
5

+ 2
3

=
13

15
(17) 5

3
+ 1

2
=

13

6
(18) 2

5
+ 5

3
=

31

15

(19) 1
6

+ 3
2

=
5

3
(20) 4

3
+ 1

2
=

11

6

� 13th-note �



� No.313-5 �

No.313-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 1
5

+ 1
2

= (2) 1
2

+ 7
4

=

(3) 2
3

+ 1
6

= (4) 5
6

+ 5
4

=

(5) 1
6

+ 2
3

=

� 13th-note �



� No.313-5 �

No.313-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 1
5

+ 1
2

=
7

10
(2) 1

2
+ 7

4
=

9

4

(3) 2
3

+ 1
6

=
5

6
(4) 5

6
+ 5

4
=

25

12

(5) 1
6

+ 2
3

=
5

6

� 13th-note �



� No.313-5 �

No.313-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 1
5

+ 1
2

= (2) 1
2

+ 7
4

=

(3) 2
3

+ 1
6

= (4) 5
6

+ 5
4

=

(5) 1
6

+ 2
3

=

� 13th-note �



� No.313-5 �

No.313-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 1
5

+ 1
2

=
7

10
(2) 1

2
+ 7

4
=

9

4

(3) 2
3

+ 1
6

=
5

6
(4) 5

6
+ 5

4
=

25

12

(5) 1
6

+ 2
3

=
5

6

� 13th-note �



� No.314-20 �

No.314-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 1
12

+ 5
18

= (2) 13
14

+ 1
7

= (3) 7
6

+ 7
12

=

(4) 15
8

+ 9
16

= (5) 11
21

+ 7
12

= (6) 5
9

+ 5
6

=

(7) 4
9

+ 1
6

= (8) 7
12

+ 13
8

= (9) 1
10

+ 4
5

=

(10) 1
14

+ 1
12

= (11) 1
8

+ 1
4

= (12) 15
8

+ 7
10

=

(13) 5
12

+ 3
14

= (14) 1
10

+ 1
5

= (15) 2
5

+ 7
10

=

(16) 9
14

+ 11
6

= (17) 3
14

+ 10
7

= (18) 1
12

+ 3
16

=

(19) 15
8

+ 11
20

= (20) 11
4

+ 9
10

=

� 13th-note �



� No.314-20 �

No.314-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 1
12

+ 5
18

=
13

36
(2) 13

14
+ 1

7
=

15

14
(3) 7

6
+ 7

12
=

7

4

(4) 15
8

+ 9
16

=
39

16
(5) 11

21
+ 7

12
=

31

28
(6) 5

9
+ 5

6
=

25

18

(7) 4
9

+ 1
6

=
11

18
(8) 7

12
+ 13

8
=

53

24
(9) 1

10
+ 4

5
=

9

10

(10) 1
14

+ 1
12

=
13

84
(11) 1

8
+ 1

4
=

3

8
(12) 15

8
+ 7

10
=

103

40

(13) 5
12

+ 3
14

=
53

84
(14) 1

10
+ 1

5
=

3

10
(15) 2

5
+ 7

10
=

11

10

(16) 9
14

+ 11
6

=
52

21
(17) 3

14
+ 10

7
=

23

14
(18) 1

12
+ 3

16
=

13

48

(19) 15
8

+ 11
20

=
97

40
(20) 11

4
+ 9

10
=

73

20

� 13th-note �



� No.314-5 �

No.314-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 9
4

+ 15
8

= (2) 5
6

+ 5
18

=

(3) 7
15

+ 4
9

= (4) 5
4

+ 9
14

=

(5) 4
21

+ 11
14

=

� 13th-note �



� No.314-5 �

No.314-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 9
4

+ 15
8

=
33

8
(2) 5

6
+ 5

18
=

10

9

(3) 7
15

+ 4
9

=
41

45
(4) 5

4
+ 9

14
=

53

28

(5) 4
21

+ 11
14

=
41

42

� 13th-note �



� No.315-10 �

No.315-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 1 1
6

+ 3 1
2

= (2) 1 5
6

+ 2 1
3

=

(3) 2 1
4

+ 1
6

= (4) 4 1
6

+ 2 1
3

=

(5) 2 1
3

+ 2 4
5

= (6) 2 3
4

+ 2 5
6

=

(7) 2 1
2

+ 2 1
4

= (8) 1 3
4

+ 2 5
6

=

(9) 5
6

+ 5 1
2

= (10) 2 1
3

+ 1
6

=

� 13th-note �



� No.315-10 �

No.315-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 1 1
6

+ 3 1
2

= 4
2

3
(2) 1 5

6
+ 2 1

3
= 4

1

6

(3) 2 1
4

+ 1
6

= 2
5

12
(4) 4 1

6
+ 2 1

3
= 6

1

2

(5) 2 1
3

+ 2 4
5

= 5
2

15
(6) 2 3

4
+ 2 5

6
= 5

7

12

(7) 2 1
2

+ 2 1
4

= 4
3

4
(8) 1 3

4
+ 2 5

6
= 4

7

12

(9) 5
6

+ 5 1
2

= 6
1

3
(10) 2 1

3
+ 1

6
= 2

1

2

� 13th-note �



� No.315-20 �

No.315-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 2 3
4

+ 2
3

= (2) 2 1
4

+ 2 1
5

= (3) 1 2
3

+ 1 5
6

=

(4) 1 5
6

+ 1 2
3

= (5) 4 1
3

+ 2 5
6

= (6) 1
2

+ 2 1
6

=

(7) 1 2
5

+ 3 1
3

= (8) 3 4
5

+ 6 1
2

= (9) 1
6

+ 1 3
4

=

(10) 1
6

+ 5 1
2

= (11) 5 1
2

+ 1 1
4

= (12) 4 1
2

+ 4 1
4

=

(13) 3 4
5

+ 2 1
2

= (14) 2 1
3

+ 2 5
6

= (15) 4 1
6

+ 4 3
4

=

(16) 5
6

+ 1 2
3

= (17) 1 3
4

+ 4 1
2

= (18) 3 1
3

+ 2 1
6

=

(19) 1 5
6

+ 2 1
3

= (20) 2 5
6

+ 3 2
3

=

� 13th-note �



� No.315-20 �

No.315-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 2 3
4

+ 2
3

= 3
5

12
(2) 2 1

4
+ 2 1

5
= 4

9

20
(3) 1 2

3
+ 1 5

6
= 3

1

2

(4) 1 5
6

+ 1 2
3

= 3
1

2
(5) 4 1

3
+ 2 5

6
= 7

1

6
(6) 1

2
+ 2 1

6
= 2

2

3

(7) 1 2
5

+ 3 1
3

= 4
11

15
(8) 3 4

5
+ 6 1

2
= 10

3

10
(9) 1

6
+ 1 3

4
= 1

11

12

(10) 1
6

+ 5 1
2

= 5
2

3
(11) 5 1

2
+ 1 1

4
= 6

3

4
(12) 4 1

2
+ 4 1

4
= 8

3

4

(13) 3 4
5

+ 2 1
2

= 6
3

10
(14) 2 1

3
+ 2 5

6
= 5

1

6
(15) 4 1

6
+ 4 3

4
= 8

11

12

(16) 5
6

+ 1 2
3

= 2
1

2
(17) 1 3

4
+ 4 1

2
= 6

1

4
(18) 3 1

3
+ 2 1

6
= 5

1

2

(19) 1 5
6

+ 2 1
3

= 4
1

6
(20) 2 5

6
+ 3 2

3
= 6

1

2

� 13th-note �



� No.315-5 �

No.315-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 1 3
5

+ 3 1
2

= (2) 3 1
2

+ 2 3
4

=

(3) 2 1
4

+ 3 1
2

= (4) 4 5
6

+ 4 2
3

=

(5) 1
2

+ 2 3
4

=

� 13th-note �



� No.315-5 �

No.315-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 1 3
5

+ 3 1
2

= 5
1

10
(2) 3 1

2
+ 2 3

4
= 6

1

4

(3) 2 1
4

+ 3 1
2

= 5
3

4
(4) 4 5

6
+ 4 2

3
= 9

1

2

(5) 1
2

+ 2 3
4

= 3
1

4

� 13th-note �



� No.321-10 �

No.321-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 7
10

− 3
10

= (2) 11
17

− 9
17

=

(3) 13
15

− 8
15

= (4) 7
8
− 3

8
=

(5) 8
7
− 3

7
= (6) 15

16
− 5

16
=

(7) 12
7
− 1

7
= (8) 3

13
− 1

13
=

(9) 5
9
− 4

9
= (10) 11

15
− 8

15
=

� 13th-note �



� No.321-10 �

No.321-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 7
10

− 3
10

=
4

10

„
=

2
5

«
(2) 11

17
− 9

17
=

2

17

(3) 13
15

− 8
15

=
5

15

„
=

1
3

«
(4) 7

8
− 3

8
=

4

8

„
=

1
2

«

(5) 8
7
− 3

7
=

5

7
(6) 15

16
− 5

16
=

10

16

„
=

5
8

«

(7) 12
7
− 1

7
=

11

7
(8) 3

13
− 1

13
=

2

13

(9) 5
9
− 4

9
=

1

9
(10) 11

15
− 8

15
=

3

15

„
=

1
5

«

� 13th-note �



� No.321-20 �

No.321-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 17
18

− 13
18

= (2) 5
8
− 1

8
= (3) 13

15
− 4

15
=

(4) 11
12

− 7
12

= (5) 7
13

− 6
13

= (6) 8
9
− 7

9
=

(7) 11
15

− 1
15

= (8) 6
19

− 3
19

= (9) 9
16

− 3
16

=

(10) 17
18

− 1
18

= (11) 9
20

− 1
20

= (12) 6
13

− 2
13

=

(13) 13
7
− 8

7
= (14) 3

10
− 1

10
= (15) 11

18
− 5

18
=

(16) 17
19

− 9
19

= (17) 9
11

− 1
11

= (18) 19
20

− 13
20

=

(19) 12
7
− 4

7
= (20) 11

13
− 9

13
=

� 13th-note �



� No.321-20 �

No.321-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 17
18

− 13
18

=
4

18

„
=

2
9

«
(2) 5

8
− 1

8
=

4

8

„
=

1
2

«
(3) 13

15
− 4

15
=

9

15

„
=

3
5

«

(4) 11
12

− 7
12

=
4

12

„
=

1
3

«
(5) 7

13
− 6

13
=

1

13
(6) 8

9
− 7

9
=

1

9

(7) 11
15

− 1
15

=
10

15

„
=

2
3

«
(8) 6

19
− 3

19
=

3

19
(9) 9

16
− 3

16
=

6

16

„
=

3
8

«

(10) 17
18

− 1
18

=
16

18

„
=

8
9

«
(11) 9

20
− 1

20
=

8

20

„
=

2
5

«
(12) 6

13
− 2

13
=

4

13

(13) 13
7
− 8

7
=

5

7
(14) 3

10
− 1

10
=

2

10

„
=

1
5

«
(15) 11

18
− 5

18
=

6

18

„
=

1
3

«

(16) 17
19

− 9
19

=
8

19
(17) 9

11
− 1

11
=

8

11
(18) 19

20
− 13

20
=

6

20

„
=

3
10

«

(19) 12
7
− 4

7
=

8

7
(20) 11

13
− 9

13
=

2

13

� 13th-note �



� No.323-10 �

No.323-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 5
2
− 5

6
= (2) 5

6
− 1

2
=

(3) 5
2
− 1

6
= (4) 3

5
− 1

3
=

(5) 5
3
− 1

6
= (6) 5

2
− 1

4
=

(7) 4
3
− 5

4
= (8) 3

5
− 1

4
=

(9) 1
3
− 1

6
= (10) 5

2
− 4

3
=

� 13th-note �



� No.323-10 �

No.323-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 5
2
− 5

6
=

5

3
(2) 5

6
− 1

2
=

1

3

(3) 5
2
− 1

6
=

7

3
(4) 3

5
− 1

3
=

4

15

(5) 5
3
− 1

6
=

3

2
(6) 5

2
− 1

4
=

9

4

(7) 4
3
− 5

4
=

1

12
(8) 3

5
− 1

4
=

7

20

(9) 1
3
− 1

6
=

1

6
(10) 5

2
− 4

3
=

7

6

� 13th-note �



� No.323-20 �

No.323-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 4
3
− 1

6
= (2) 5

3
− 5

6
= (3) 5

6
− 1

3
=

(4) 3
2
− 1

3
= (5) 3

2
− 1

4
= (6) 1

3
− 1

6
=

(7) 3
2
− 2

3
= (8) 5

3
− 1

4
= (9) 1

4
− 1

5
=

(10) 3
2
− 3

4
= (11) 5

6
− 1

2
= (12) 4

3
− 3

5
=

(13) 2
5
− 1

3
= (14) 5

6
− 3

4
= (15) 1

4
− 1

6
=

(16) 5
6
− 2

3
= (17) 7

4
− 3

5
= (18) 5

2
− 1

6
=

(19) 7
4
− 1

5
= (20) 2

3
− 1

4
=

� 13th-note �



� No.323-20 �

No.323-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 4
3
− 1

6
=

7

6
(2) 5

3
− 5

6
=

5

6
(3) 5

6
− 1

3
=

1

2

(4) 3
2
− 1

3
=

7

6
(5) 3

2
− 1

4
=

5

4
(6) 1

3
− 1

6
=

1

6

(7) 3
2
− 2

3
=

5

6
(8) 5

3
− 1

4
=

17

12
(9) 1

4
− 1

5
=

1

20

(10) 3
2
− 3

4
=

3

4
(11) 5

6
− 1

2
=

1

3
(12) 4

3
− 3

5
=

11

15

(13) 2
5
− 1

3
=

1

15
(14) 5

6
− 3

4
=

1

12
(15) 1

4
− 1

6
=

1

12

(16) 5
6
− 2

3
=

1

6
(17) 7

4
− 3

5
=

23

20
(18) 5

2
− 1

6
=

7

3

(19) 7
4
− 1

5
=

31

20
(20) 2

3
− 1

4
=

5

12

� 13th-note �



� No.323-5 �

No.323-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 4
3
− 5

6
= (2) 7

4
− 1

2
=

(3) 5
6
− 1

3
= (4) 5

4
− 1

6
=

(5) 5
2
− 5

4
=

� 13th-note �



� No.323-5 �

No.323-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 4
3
− 5

6
=

1

2
(2) 7

4
− 1

2
=

5

4

(3) 5
6
− 1

3
=

1

2
(4) 5

4
− 1

6
=

13

12

(5) 5
2
− 5

4
=

5

4

� 13th-note �



� No.324-10 �

No.324-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 11
8
− 3

20
= (2) 7

4
− 1

12
=

(3) 13
14

− 19
21

= (4) 7
20

− 4
15

=

(5) 17
20

− 7
12

= (6) 11
7
− 3

14
=

(7) 7
6
− 1

10
= (8) 11

7
− 9

14
=

(9) 5
7
− 1

14
= (10) 7

10
− 1

20
=

� 13th-note �



� No.324-10 �

No.324-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 11
8
− 3

20
=

49

40
(2) 7

4
− 1

12
=

5

3

(3) 13
14

− 19
21

=
1

42
(4) 7

20
− 4

15
=

1

12

(5) 17
20

− 7
12

=
4

15
(6) 11

7
− 3

14
=

19

14

(7) 7
6
− 1

10
=

16

15
(8) 11

7
− 9

14
=

13

14

(9) 5
7
− 1

14
=

9

14
(10) 7

10
− 1

20
=

13

20

� 13th-note �



� No.324-20 �

No.324-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 9
10

− 1
15

= (2) 11
16

− 3
20

= (3) 9
8
− 11

12
=

(4) 19
21

− 7
15

= (5) 11
20

− 7
16

= (6) 9
5
− 12

7
=

(7) 7
12

− 11
20

= (8) 7
20

− 4
15

= (9) 11
6
− 7

12
=

(10) 11
6
− 4

9
= (11) 5

6
− 13

18
= (12) 11

18
− 5

12
=

(13) 11
18

− 1
12

= (14) 7
18

− 1
12

= (15) 5
4
− 7

12
=

(16) 9
5
− 7

6
= (17) 15

8
− 3

14
= (18) 11

12
− 3

10
=

(19) 10
7
− 9

14
= (20) 4

5
− 3

20
=

� 13th-note �



� No.324-20 �

No.324-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 9
10

− 1
15

=
5

6
(2) 11

16
− 3

20
=

43

80
(3) 9

8
− 11

12
=

5

24

(4) 19
21

− 7
15

=
46

105
(5) 11

20
− 7

16
=

9

80
(6) 9

5
− 12

7
=

3

35

(7) 7
12

− 11
20

=
1

30
(8) 7

20
− 4

15
=

1

12
(9) 11

6
− 7

12
=

5

4

(10) 11
6
− 4

9
=

25

18
(11) 5

6
− 13

18
=

1

9
(12) 11

18
− 5

12
=

7

36

(13) 11
18

− 1
12

=
19

36
(14) 7

18
− 1

12
=

11

36
(15) 5

4
− 7

12
=

2

3

(16) 9
5
− 7

6
=

19

30
(17) 15

8
− 3

14
=

93

56
(18) 11

12
− 3

10
=

37

60

(19) 10
7
− 9

14
=

11

14
(20) 4

5
− 3

20
=

13

20

� 13th-note �



� No.324-5 �

No.324-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 17
21

− 11
14

= (2) 4
5
− 13

20
=

(3) 11
12

− 5
18

= (4) 11
18

− 5
12

=

(5) 11
6
− 19

21
=

� 13th-note �



� No.324-5 �

No.324-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 17
21

− 11
14

=
1

42
(2) 4

5
− 13

20
=

3

20

(3) 11
12

− 5
18

=
23

36
(4) 11

18
− 5

12
=

7

36

(5) 11
6
− 19

21
=

13

14

� 13th-note �



� No.325-10 �

No.325-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 3 1
3
− 1 5

6
= (2) 1 1

5
− 3

4
=

(3) 1 5
6
− 1 1

3
= (4) 2 1

2
− 1

6
=

(5) 6 1
3
− 3 5

6
= (6) 1 3

4
− 1 1

5
=

(7) 5 1
2
− 4 2

3
= (8) 2 1

2
− 1 5

6
=

(9) 3 1
2
− 1

4
= (10) 2 1

2
− 2 1

4
=

� 13th-note �



� No.325-10 �

No.325-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 3 1
3
− 1 5

6
= 1

1

2
(2) 1 1

5
− 3

4
=

9

20

(3) 1 5
6
− 1 1

3
=

1

2
(4) 2 1

2
− 1

6
= 2

1

3

(5) 6 1
3
− 3 5

6
= 2

1

2
(6) 1 3

4
− 1 1

5
=

11

20

(7) 5 1
2
− 4 2

3
=

5

6
(8) 2 1

2
− 1 5

6
=

2

3

(9) 3 1
2
− 1

4
= 3

1

4
(10) 2 1

2
− 2 1

4
=

1

4

� 13th-note �



� No.325-20 �

No.325-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 2 3
5
− 2 1

2
= (2) 3 1

2
− 4

5
= (3) 4 1

4
− 3 5

6
=

(4) 2 2
3
− 1 1

4
= (5) 1 5

6
− 1 1

2
= (6) 3 1

3
− 2 1

2
=

(7) 5 3
5
− 4 3

4
= (8) 1 1

2
− 1 1

6
= (9) 3 3

4
− 2 2

3
=

(10) 5 1
4
− 3 1

6
= (11) 6 1

2
− 2 1

6
= (12) 5 1

6
− 1 1

2
=

(13) 1 4
5
− 1 2

3
= (14) 3 2

3
− 1 5

6
= (15) 3 5

6
− 2 1

3
=

(16) 4 2
5
− 3 2

3
= (17) 4 5

6
− 4 1

3
= (18) 6 3

4
− 2 2

3
=

(19) 1 2
3
− 1 1

6
= (20) 4 1

2
− 3 3

4
=

� 13th-note �



� No.325-20 �

No.325-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 2 3
5
− 2 1

2
=

1

10
(2) 3 1

2
− 4

5
= 2

7

10
(3) 4 1

4
− 3 5

6
=

5

12

(4) 2 2
3
− 1 1

4
= 1

5

12
(5) 1 5

6
− 1 1

2
=

1

3
(6) 3 1

3
− 2 1

2
=

5

6

(7) 5 3
5
− 4 3

4
=

17

20
(8) 1 1

2
− 1 1

6
=

1

3
(9) 3 3

4
− 2 2

3
= 1

1

12

(10) 5 1
4
− 3 1

6
= 2

1

12
(11) 6 1

2
− 2 1

6
= 4

1

3
(12) 5 1

6
− 1 1

2
= 3

2

3

(13) 1 4
5
− 1 2

3
=

2

15
(14) 3 2

3
− 1 5

6
= 1

5

6
(15) 3 5

6
− 2 1

3
= 1

1

2

(16) 4 2
5
− 3 2

3
=

11

15
(17) 4 5

6
− 4 1

3
=

1

2
(18) 6 3

4
− 2 2

3
= 4

1

12

(19) 1 2
3
− 1 1

6
=

1

2
(20) 4 1

2
− 3 3

4
=

3

4

� 13th-note �



� No.325-5 �

No.325-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 4 1
3
− 4 1

4
= (2) 2 3

4
− 2 1

2
=

(3) 2 1
3
− 1 5

6
= (4) 2 5

6
− 2 3

4
=

(5) 3 2
5
− 2 2

3
=

� 13th-note �



� No.325-5 �

No.325-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 4 1
3
− 4 1

4
=

1

12
(2) 2 3

4
− 2 1

2
=

1

4

(3) 2 1
3
− 1 5

6
=

1

2
(4) 2 5

6
− 2 3

4
=

1

12

(5) 3 2
5
− 2 2

3
=

11

15

� 13th-note �



� No.333-10 �

No.333-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 1
6
× 3 = (2) 5

6
× 3

2
=

(3) 5
6
× 3 = (4) 3

2
× 5

6
=

(5) 5
6
× 4

7
= (6) 2

3
× 6 =

(7) 3× 5
6

= (8) 1
2
× 4

5
=

(9) 6
5
× 5

2
= (10) 1

4
× 6 =

� 13th-note �



� No.333-10 �

No.333-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 1
6
× 3 =

1

2
(2) 5

6
× 3

2
=

5

4

(3) 5
6
× 3 =

5

2
(4) 3

2
× 5

6
=

5

4

(5) 5
6
× 4

7
=

10

21
(6) 2

3
× 6 = 4

(7) 3× 5
6

=
5

2
(8) 1

2
× 4

5
=

2

5

(9) 6
5
× 5

2
= 3 (10) 1

4
× 6 =

3

2

� 13th-note �



� No.333-20 �

No.333-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 1
3
× 6 = (2) 1

3
× 6

5
= (3) 3

2
× 6 =

(4) 6× 4
3

= (5) 3
2
× 6

5
= (6) 1

6
× 4 =

(7) 1
6
× 3

5
= (8) 1

6
× 3

4
= (9) 6× 1

3
=

(10) 6
5
× 3

4
= (11) 3× 1

6
= (12) 5

2
× 6

5
=

(13) 6
5
× 1

3
= (14) 2

3
× 6 = (15) 3

5
× 5

6
=

(16) 3
4
× 2

3
= (17) 6

5
× 1

2
= (18) 3

2
× 5

6
=

(19) 5
6
× 2

5
= (20) 3

4
× 1

6
=

� 13th-note �



� No.333-20 �

No.333-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 1
3
× 6 = 2 (2) 1

3
× 6

5
=

2

5
(3) 3

2
× 6 = 9

(4) 6× 4
3

= 8 (5) 3
2
× 6

5
=

9

5
(6) 1

6
× 4 =

2

3

(7) 1
6
× 3

5
=

1

10
(8) 1

6
× 3

4
=

1

8
(9) 6× 1

3
= 2

(10) 6
5
× 3

4
=

9

10
(11) 3× 1

6
=

1

2
(12) 5

2
× 6

5
= 3

(13) 6
5
× 1

3
=

2

5
(14) 2

3
× 6 = 4 (15) 3

5
× 5

6
=

1

2

(16) 3
4
× 2

3
=

1

2
(17) 6

5
× 1

2
=

3

5
(18) 3

2
× 5

6
=

5

4

(19) 5
6
× 2

5
=

1

3
(20) 3

4
× 1

6
=

1

8

� 13th-note �



� No.333-25 �

No.333-25 （ 点） （ 分 秒）

次の計算をしなさい。（１問 4点）

(1) 6× 4
3

= (2) 1
2
× 6 = (3) 1

2
× 4

5
=

(4) 6× 2
3

= (5) 6
5
× 4

3
= (6) 6× 5

3
=

(7) 2× 1
4

= (8) 5
2
× 6

5
= (9) 6

5
× 5

3
=

(10) 4
3
× 6 = (11) 6× 7

4
= (12) 3

4
× 5

6
=

(13) 4
5
× 1

2
= (14) 1

6
× 3 = (15) 6× 5

2
=

(16) 1
3
× 6

5
= (17) 7

4
× 6 = (18) 6

5
× 1

4
=

(19) 5
6
× 3

4
= (20) 1

6
× 2

3
= (21) 2

3
× 3

4
=

(22) 3
2
× 4 = (23) 1

6
× 3

2
= (24) 3

4
× 6 =

(25) 1
6
× 3

4
=

� 13th-note �



� No.333-25 �

No.333-25 （ 点） （ 分 秒）

次の計算をしなさい。（１問 4点）

(1) 6× 4
3

= 8 (2) 1
2
× 6 = 3 (3) 1

2
× 4

5
=

2

5

(4) 6× 2
3

= 4 (5) 6
5
× 4

3
=

8

5
(6) 6× 5

3
= 10

(7) 2× 1
4

=
1

2
(8) 5

2
× 6

5
= 3 (9) 6

5
× 5

3
= 2

(10) 4
3
× 6 = 8 (11) 6× 7

4
=

21

2
(12) 3

4
× 5

6
=

5

8

(13) 4
5
× 1

2
=

2

5
(14) 1

6
× 3 =

1

2
(15) 6× 5

2
= 15

(16) 1
3
× 6

5
=

2

5
(17) 7

4
× 6 =

21

2
(18) 6

5
× 1

4
=

3

10

(19) 5
6
× 3

4
=

5

8
(20) 1

6
× 2

3
=

1

9
(21) 2

3
× 3

4
=

1

2

(22) 3
2
× 4 = 6 (23) 1

6
× 3

2
=

1

4
(24) 3

4
× 6 =

9

2

(25) 1
6
× 3

4
=

1

8

� 13th-note �



� No.333-5 �

No.333-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 6
5
× 7

4
= (2) 1

6
× 2 =

(3) 6× 3
4

= (4) 6
5
× 5

3
=

(5) 3
4
× 2

3
=

� 13th-note �



� No.333-5 �

No.333-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 6
5
× 7

4
=

21

10
(2) 1

6
× 2 =

1

3

(3) 6× 3
4

=
9

2
(4) 6

5
× 5

3
= 2

(5) 3
4
× 2

3
=

1

2

� 13th-note �



� No.334-10 �

No.334-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 5
8
× 4

15
= (2) 3

10
× 20

17
=

(3) 18
11

× 5
6

= (4) 1
12

× 8
9

=

(5) 21
13

× 13
15

= (6) 12× 11
6

=

(7) 3
16

× 8
11

= (8) 15
2
× 19

20
=

(9) 8
7
× 14

11
= (10) 10

3
× 13

8
=

� 13th-note �



� No.334-10 �

No.334-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 5
8
× 4

15
=

1

6
(2) 3

10
× 20

17
=

6

17

(3) 18
11

× 5
6

=
15

11
(4) 1

12
× 8

9
=

2

27

(5) 21
13

× 13
15

=
7

5
(6) 12× 11

6
= 22

(7) 3
16

× 8
11

=
3

22
(8) 15

2
× 19

20
=

57

8

(9) 8
7
× 14

11
=

16

11
(10) 10

3
× 13

8
=

65

12

� 13th-note �



� No.334-20 �

No.334-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 11
12

× 16 = (2) 14
3
× 13

21
= (3) 20

13
× 9

10
=

(4) 10
3
× 4

5
= (5) 18

7
× 5

12
= (6) 8

5
× 20

7
=

(7) 21
16

× 8
9

= (8) 12
5
× 15

16
= (9) 20

19
× 1

10
=

(10) 21
8
× 3

14
= (11) 13

7
× 21

16
= (12) 7

15
× 20

13
=

(13) 8
7
× 1

16
= (14) 11

12
× 8 = (15) 13

18
× 12

5
=

(16) 6
5
× 5

18
= (17) 20

3
× 7

8
= (18) 1

12
× 6

11
=

(19) 13
14

× 7
5

= (20) 15
4
× 7

20
=

� 13th-note �



� No.334-20 �

No.334-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 11
12

× 16 =
44

3
(2) 14

3
× 13

21
=

26

9
(3) 20

13
× 9

10
=

18

13

(4) 10
3
× 4

5
=

8

3
(5) 18

7
× 5

12
=

15

14
(6) 8

5
× 20

7
=

32

7

(7) 21
16

× 8
9

=
7

6
(8) 12

5
× 15

16
=

9

4
(9) 20

19
× 1

10
=

2

19

(10) 21
8
× 3

14
=

9

16
(11) 13

7
× 21

16
=

39

16
(12) 7

15
× 20

13
=

28

39

(13) 8
7
× 1

16
=

1

14
(14) 11

12
× 8 =

22

3
(15) 13

18
× 12

5
=

26

15

(16) 6
5
× 5

18
=

1

3
(17) 20

3
× 7

8
=

35

6
(18) 1

12
× 6

11
=

1

22

(19) 13
14

× 7
5

=
13

10
(20) 15

4
× 7

20
=

21

16

� 13th-note �



� No.334-5 �

No.334-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 14
15

× 20 = (2) 13
14

× 8 =

(3) 7
18

× 21
10

= (4) 10
21

× 9
4

=

(5) 15× 5
21

=

� 13th-note �



� No.334-5 �

No.334-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 14
15

× 20 =
56

3
(2) 13

14
× 8 =

52

7

(3) 7
18

× 21
10

=
49

60
(4) 10

21
× 9

4
=

15

14

(5) 15× 5
21

=
25

7

� 13th-note �



� No.336-10 �

No.336-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 7
4
× 5

2
× 4

7
= (2) 6

11
× 7

6
× 1

3
=

(3) 7
4
× 8

9
× 6

5
= (4) 6× 7

6
× 5

6
=

(5) 4× 1
2
× 7

4
= (6) 5

6
× 7

3
× 9

4
=

(7) 6
7
× 1

4
× 2

3
= (8) 1

6
× 6

7
× 3

2
=

(9) 7
9
× 5

2
× 6

11
= (10) 4

3
× 3

4
× 6

11
=

� 13th-note �



� No.336-10 �

No.336-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 7
4
× 5

2
× 4

7
=

5

2
(2) 6

11
× 7

6
× 1

3
=

7

33

(3) 7
4
× 8

9
× 6

5
=

28

15
(4) 6× 7

6
× 5

6
=

35

6

(5) 4× 1
2
× 7

4
=

7

2
(6) 5

6
× 7

3
× 9

4
=

35

8

(7) 6
7
× 1

4
× 2

3
=

1

7
(8) 1

6
× 6

7
× 3

2
=

3

14

(9) 7
9
× 5

2
× 6

11
=

35

33
(10) 4

3
× 3

4
× 6

11
=

6

11

� 13th-note �



� No.336-20 �

No.336-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 4× 1
6
× 1

8
= (2) 5

4
× 1

3
× 6

11
= (3) 3

2
× 4× 7

6
=

(4) 3
2
× 7

9
× 6 = (5) 7

6
× 9

4
× 4

3
= (6) 5

6
× 4

3
× 6

7
=

(7) 1
3
× 6× 1

4
= (8) 5

4
× 4

9
× 6

5
= (9) 2

3
× 1

6
× 9

4
=

(10) 6
7
× 1

9
× 3

4
= (11) 4

3
× 5

6
× 9

2
= (12) 4

9
× 6

11
× 7

4
=

(13) 6× 1
2
× 1

6
= (14) 1

9
× 3

2
× 6 = (15) 7

8
× 4

3
× 7

4
=

(16) 7
8
× 7

4
× 4

3
= (17) 1

6
× 5

3
× 9

8
= (18) 4× 7

6
× 5

4
=

(19) 1
6
× 5

6
× 6 = (20) 7

3
× 6

11
× 1

4
=

� 13th-note �



� No.336-20 �

No.336-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 4× 1
6
× 1

8
=

1

12
(2) 5

4
× 1

3
× 6

11
=

5

22
(3) 3

2
× 4× 7

6
= 7

(4) 3
2
× 7

9
× 6 = 7 (5) 7

6
× 9

4
× 4

3
=

7

2
(6) 5

6
× 4

3
× 6

7
=

20

21

(7) 1
3
× 6× 1

4
=

1

2
(8) 5

4
× 4

9
× 6

5
=

2

3
(9) 2

3
× 1

6
× 9

4
=

1

4

(10) 6
7
× 1

9
× 3

4
=

1

14
(11) 4

3
× 5

6
× 9

2
= 5 (12) 4

9
× 6

11
× 7

4
=

14

33

(13) 6× 1
2
× 1

6
=

1

2
(14) 1

9
× 3

2
× 6 = 1 (15) 7

8
× 4

3
× 7

4
=

49

24

(16) 7
8
× 7

4
× 4

3
=

49

24
(17) 1

6
× 5

3
× 9

8
=

5

16
(18) 4× 7

6
× 5

4
=

35

6

(19) 1
6
× 5

6
× 6 =

5

6
(20) 7

3
× 6

11
× 1

4
=

7

22

� 13th-note �



� No.336-5 �

No.336-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 8
3
× 11

6
× 9 = (2) 4

9
× 5

2
× 6

11
=

(3) 8
3
× 5

6
× 6

11
= (4) 6× 2

3
× 1

4
=

(5) 11
6
× 9

2
× 1

3
=

� 13th-note �



� No.336-5 �

No.336-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 8
3
× 11

6
× 9 = 44 (2) 4

9
× 5

2
× 6

11
=

20

33

(3) 8
3
× 5

6
× 6

11
=

40

33
(4) 6× 2

3
× 1

4
= 1

(5) 11
6
× 9

2
× 1

3
=

11

4

� 13th-note �



� No.343-10 �

No.343-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 1
3
÷ 1

6
= (2) 5

3
÷ 5

6
=

(3) 5
6
÷ 1

2
= (4) 5

6
÷ 5

3
=

(5) 1
6
÷ 5

4
= (6) 5

3
÷ 1

6
=

(7) 1
3
÷ 5

6
= (8) 1

6
÷ 1

3
=

(9) 2
3
÷ 5

6
= (10) 7

4
÷ 5

2
=

� 13th-note �



� No.343-10 �

No.343-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 1
3
÷ 1

6
= 2 (2) 5

3
÷ 5

6
= 2

(3) 5
6
÷ 1

2
=

5

3
(4) 5

6
÷ 5

3
=

1

2

(5) 1
6
÷ 5

4
=

2

15
(6) 5

3
÷ 1

6
= 10

(7) 1
3
÷ 5

6
=

2

5
(8) 1

6
÷ 1

3
=

1

2

(9) 2
3
÷ 5

6
=

4

5
(10) 7

4
÷ 5

2
=

7

10

� 13th-note �



� No.343-20 �

No.343-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 1
2
÷ 5

6
= (2) 2

3
÷ 1

6
= (3) 1

4
÷ 1

2
=

(4) 1
3
÷ 5

6
= (5) 1

6
÷ 1

2
= (6) 4

3
÷ 1

6
=

(7) 7
4
÷ 3

2
= (8) 1

6
÷ 2

3
= (9) 5

6
÷ 2

3
=

(10) 5
6
÷ 5

2
= (11) 5

6
÷ 1

4
= (12) 1

4
÷ 5

2
=

(13) 1
6
÷ 5

3
= (14) 5

6
÷ 4

3
= (15) 1

6
÷ 3

2
=

(16) 1
6
÷ 7

4
= (17) 5

6
÷ 5

4
= (18) 1

2
÷ 1

6
=

(19) 3
4
÷ 1

6
= (20) 1

3
÷ 1

6
=

� 13th-note �



� No.343-20 �

No.343-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 1
2
÷ 5

6
=

3

5
(2) 2

3
÷ 1

6
= 4 (3) 1

4
÷ 1

2
=

1

2

(4) 1
3
÷ 5

6
=

2

5
(5) 1

6
÷ 1

2
=

1

3
(6) 4

3
÷ 1

6
= 8

(7) 7
4
÷ 3

2
=

7

6
(8) 1

6
÷ 2

3
=

1

4
(9) 5

6
÷ 2

3
=

5

4

(10) 5
6
÷ 5

2
=

1

3
(11) 5

6
÷ 1

4
=

10

3
(12) 1

4
÷ 5

2
=

1

10

(13) 1
6
÷ 5

3
=

1

10
(14) 5

6
÷ 4

3
=

5

8
(15) 1

6
÷ 3

2
=

1

9

(16) 1
6
÷ 7

4
=

2

21
(17) 5

6
÷ 5

4
=

2

3
(18) 1

2
÷ 1

6
= 3

(19) 3
4
÷ 1

6
=

9

2
(20) 1

3
÷ 1

6
= 2

� 13th-note �



� No.343-25 �

No.343-25 （ 点） （ 分 秒）

次の計算をしなさい。（１問 4点）

(1) 5
6
÷ 4

3
= (2) 5

6
÷ 7

4
= (3) 1

3
÷ 1

6
=

(4) 5
2
÷ 5

6
= (5) 5

2
÷ 7

4
= (6) 5

6
÷ 2

3
=

(7) 2
3
÷ 1

6
= (8) 5

6
÷ 1

2
= (9) 5

4
÷ 1

6
=

(10) 1
6
÷ 1

4
= (11) 3

2
÷ 1

6
= (12) 2

3
÷ 5

6
=

(13) 3
4
÷ 5

6
= (14) 5

3
÷ 1

6
= (15) 5

6
÷ 3

2
=

(16) 1
2
÷ 5

4
= (17) 5

6
÷ 5

3
= (18) 5

4
÷ 5

2
=

(19) 4
3
÷ 5

6
= (20) 5

6
÷ 5

2
= (21) 5

3
÷ 5

6
=

(22) 5
6
÷ 1

4
= (23) 1

6
÷ 1

3
= (24) 4

3
÷ 1

6
=

(25) 1
6
÷ 4

3
=

� 13th-note �



� No.343-25 �

No.343-25 （ 点） （ 分 秒）

次の計算をしなさい。（１問 4点）

(1) 5
6
÷ 4

3
=

5

8
(2) 5

6
÷ 7

4
=

10

21
(3) 1

3
÷ 1

6
= 2

(4) 5
2
÷ 5

6
= 3 (5) 5

2
÷ 7

4
=

10

7
(6) 5

6
÷ 2

3
=

5

4

(7) 2
3
÷ 1

6
= 4 (8) 5

6
÷ 1

2
=

5

3
(9) 5

4
÷ 1

6
=

15

2

(10) 1
6
÷ 1

4
=

2

3
(11) 3

2
÷ 1

6
= 9 (12) 2

3
÷ 5

6
=

4

5

(13) 3
4
÷ 5

6
=

9

10
(14) 5

3
÷ 1

6
= 10 (15) 5

6
÷ 3

2
=

5

9

(16) 1
2
÷ 5

4
=

2

5
(17) 5

6
÷ 5

3
=

1

2
(18) 5

4
÷ 5

2
=

1

2

(19) 4
3
÷ 5

6
=

8

5
(20) 5

6
÷ 5

2
=

1

3
(21) 5

3
÷ 5

6
= 2

(22) 5
6
÷ 1

4
=

10

3
(23) 1

6
÷ 1

3
=

1

2
(24) 4

3
÷ 1

6
= 8

(25) 1
6
÷ 4

3
=

1

8

� 13th-note �



� No.343-5 �

No.343-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 5
3
÷ 1

6
= (2) 1

6
÷ 1

4
=

(3) 4
3
÷ 1

6
= (4) 5

6
÷ 4

3
=

(5) 1
3
÷ 1

6
=

� 13th-note �



� No.343-5 �

No.343-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 5
3
÷ 1

6
= 10 (2) 1

6
÷ 1

4
=

2

3

(3) 4
3
÷ 1

6
= 8 (4) 5

6
÷ 4

3
=

5

8

(5) 1
3
÷ 1

6
= 2

� 13th-note �



� No.344-10 �

No.344-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 1
3
÷ 5

6
= (2) 5

6
÷ 4

3
=

(3) 3
4
÷ 1

2
= (4) 5

3
÷ 1

6
=

(5) 2
3
÷ 1

6
= (6) 1

4
÷ 5

6
=

(7) 5
6
÷ 1

4
= (8) 1

2
÷ 7

4
=

(9) 5
4
÷ 3

2
= (10) 1

6
÷ 5

2
=

� 13th-note �



� No.344-10 �

No.344-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 1
3
÷ 5

6
=

2

5
(2) 5

6
÷ 4

3
=

5

8

(3) 3
4
÷ 1

2
=

3

2
(4) 5

3
÷ 1

6
= 10

(5) 2
3
÷ 1

6
= 4 (6) 1

4
÷ 5

6
=

3

10

(7) 5
6
÷ 1

4
=

10

3
(8) 1

2
÷ 7

4
=

2

7

(9) 5
4
÷ 3

2
=

5

6
(10) 1

6
÷ 5

2
=

1

15

� 13th-note �



� No.344-20 �

No.344-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 11
12

÷ 9
16

= (2) 7
12

÷ 9
10

= (3) 11
20

÷ 5
12

=

(4) 13
15

÷ 13
18

= (5) 7
20

÷ 7
5

= (6) 11
6
÷ 11

16
=

(7) 3
16

÷ 9
8

= (8) 1
9
÷ 2

15
= (9) 17

18
÷ 5

12
=

(10) 5
6
÷ 1

8
= (11) 3

7
÷ 5

21
= (12) 1

4
÷ 5

6
=

(13) 3
10

÷ 13
15

= (14) 4
9
÷ 7

15
= (15) 11

14
÷ 9

8
=

(16) 11
21

÷ 13
14

= (17) 7
6
÷ 1

21
= (18) 5

12
÷ 9

20
=

(19) 7
6
÷ 13

18
= (20) 9

8
÷ 3

14
=

� 13th-note �



� No.344-20 �

No.344-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 11
12

÷ 9
16

=
44

27
(2) 7

12
÷ 9

10
=

35

54
(3) 11

20
÷ 5

12
=

33

25

(4) 13
15

÷ 13
18

=
6

5
(5) 7

20
÷ 7

5
=

1

4
(6) 11

6
÷ 11

16
=

8

3

(7) 3
16

÷ 9
8

=
1

6
(8) 1

9
÷ 2

15
=

5

6
(9) 17

18
÷ 5

12
=

34

15

(10) 5
6
÷ 1

8
=

20

3
(11) 3

7
÷ 5

21
=

9

5
(12) 1

4
÷ 5

6
=

3

10

(13) 3
10

÷ 13
15

=
9

26
(14) 4

9
÷ 7

15
=

20

21
(15) 11

14
÷ 9

8
=

44

63

(16) 11
21

÷ 13
14

=
22

39
(17) 7

6
÷ 1

21
=

49

2
(18) 5

12
÷ 9

20
=

25

27

(19) 7
6
÷ 13

18
=

21

13
(20) 9

8
÷ 3

14
=

21

4

� 13th-note �



� No.344-5 �

No.344-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 3
5
÷ 9

20
= (2) 1

14
÷ 1

7
=

(3) 6
7
÷ 2

21
= (4) 7

18
÷ 1

12
=

(5) 5
21

÷ 3
14

=

� 13th-note �



� No.344-5 �

No.344-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 3
5
÷ 9

20
=

4

3
(2) 1

14
÷ 1

7
=

1

2

(3) 6
7
÷ 2

21
= 9 (4) 7

18
÷ 1

12
=

14

3

(5) 5
21

÷ 3
14

=
10

9

� 13th-note �



� No.363-10 �

No.363-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 5
2
− 5

6
= (2) 5

6
− 1

3
=

(3) 1
4

+ 1
6

= (4) 5
3

+ 5
6

=

(5) 3
4
− 3

5
= (6) 5

2
− 1

3
=

(7) 1
2
− 2

5
= (8) 4

3
+ 2

5
=

(9) 7
4

+ 5
2

= (10) 5
4

+ 3
2

=

� 13th-note �



� No.363-10 �

No.363-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 5
2
− 5

6
=

5

3
(2) 5

6
− 1

3
=

1

2

(3) 1
4

+ 1
6

=
5

12
(4) 5

3
+ 5

6
=

5

2

(5) 3
4
− 3

5
=

3

20
(6) 5

2
− 1

3
=

13

6

(7) 1
2
− 2

5
=

1

10
(8) 4

3
+ 2

5
=

26

15

(9) 7
4

+ 5
2

=
17

4
(10) 5

4
+ 3

2
=

11

4

� 13th-note �



� No.363-20 �

No.363-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 2
5

+ 4
3

= (2) 7
4
− 3

2
= (3) 1

6
+ 1

2
=

(4) 5
2

+ 7
4

= (5) 1
4

+ 1
3

= (6) 3
2
− 3

4
=

(7) 3
2

+ 5
4

= (8) 3
4
− 2

3
= (9) 7

4
+ 5

2
=

(10) 7
4

+ 1
2

= (11) 1
6

+ 5
3

= (12) 7
4

+ 5
6

=

(13) 5
4
− 1

6
= (14) 3

2
+ 3

4
= (15) 5

2
− 1

6
=

(16) 1
6

+ 4
3

= (17) 5
3

+ 5
6

= (18) 7
4

+ 1
3

=

(19) 5
2
− 1

3
= (20) 4

3
− 1

6
=

� 13th-note �



� No.363-20 �

No.363-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 2
5

+ 4
3

=
26

15
(2) 7

4
− 3

2
=

1

4
(3) 1

6
+ 1

2
=

2

3

(4) 5
2

+ 7
4

=
17

4
(5) 1

4
+ 1

3
=

7

12
(6) 3

2
− 3

4
=

3

4

(7) 3
2

+ 5
4

=
11

4
(8) 3

4
− 2

3
=

1

12
(9) 7

4
+ 5

2
=

17

4

(10) 7
4

+ 1
2

=
9

4
(11) 1

6
+ 5

3
=

11

6
(12) 7

4
+ 5

6
=

31

12

(13) 5
4
− 1

6
=

13

12
(14) 3

2
+ 3

4
=

9

4
(15) 5

2
− 1

6
=

7

3

(16) 1
6

+ 4
3

=
3

2
(17) 5

3
+ 5

6
=

5

2
(18) 7

4
+ 1

3
=

25

12

(19) 5
2
− 1

3
=

13

6
(20) 4

3
− 1

6
=

7

6

� 13th-note �



� No.363-5 �

No.363-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 5
6

+ 1
4

= (2) 5
6
− 2

3
=

(3) 4
5

+ 4
3

= (4) 1
3

+ 1
6

=

(5) 4
5
− 2

3
=

� 13th-note �



� No.363-5 �

No.363-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 5
6

+ 1
4

=
13

12
(2) 5

6
− 2

3
=

1

6

(3) 4
5

+ 4
3

=
32

15
(4) 1

3
+ 1

6
=

1

2

(5) 4
5
− 2

3
=

2

15

� 13th-note �



� No.364-10 �

No.364-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 5
6
− 7

9
= (2) 7

8
+ 5

16
=

(3) 7
6

+ 11
15

= (4) 9
14

+ 3
7

=

(5) 7
5

+ 3
10

= (6) 5
6

+ 11
12

=

(7) 7
20

− 1
12

= (8) 1
15

+ 1
5

=

(9) 8
5
− 7

6
= (10) 11

14
+ 12

7
=

� 13th-note �



� No.364-10 �

No.364-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 5
6
− 7

9
=

1

18
(2) 7

8
+ 5

16
=

19

16

(3) 7
6

+ 11
15

=
19

10
(4) 9

14
+ 3

7
=

15

14

(5) 7
5

+ 3
10

=
17

10
(6) 5

6
+ 11

12
=

7

4

(7) 7
20

− 1
12

=
4

15
(8) 1

15
+ 1

5
=

4

15

(9) 8
5
− 7

6
=

13

30
(10) 11

14
+ 12

7
=

5

2

� 13th-note �



� No.364-20 �

No.364-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 9
20

− 2
15

= (2) 1
15

− 1
20

= (3) 9
10

+ 6
5

=

(4) 17
21

+ 4
7

= (5) 9
5

+ 3
4

= (6) 5
8

+ 9
4

=

(7) 8
15

+ 7
12

= (8) 1
6

+ 13
18

= (9) 15
16

− 7
12

=

(10) 11
6

+ 8
5

= (11) 19
20

− 11
16

= (12) 11
12

+ 17
18

=

(13) 5
12

− 5
16

= (14) 6
5
− 14

15
= (15) 11

6
+ 7

12
=

(16) 7
8

+ 11
12

= (17) 13
18

− 5
9

= (18) 8
5
− 11

15
=

(19) 19
20

+ 11
12

= (20) 7
10

− 7
12

=

� 13th-note �



� No.364-20 �

No.364-20 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 9
20

− 2
15

=
19

60
(2) 1

15
− 1

20
=

1

60
(3) 9

10
+ 6

5
=

21

10

(4) 17
21

+ 4
7

=
29

21
(5) 9

5
+ 3

4
=

51

20
(6) 5

8
+ 9

4
=

23

8

(7) 8
15

+ 7
12

=
67

60
(8) 1

6
+ 13

18
=

8

9
(9) 15

16
− 7

12
=

17

48

(10) 11
6

+ 8
5

=
103

30
(11) 19

20
− 11

16
=

21

80
(12) 11

12
+ 17

18
=

67

36

(13) 5
12

− 5
16

=
5

48
(14) 6

5
− 14

15
=

4

15
(15) 11

6
+ 7

12
=

29

12

(16) 7
8

+ 11
12

=
43

24
(17) 13

18
− 5

9
=

1

6
(18) 8

5
− 11

15
=

13

15

(19) 19
20

+ 11
12

=
28

15
(20) 7

10
− 7

12
=

7

60
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� No.364-5 �

No.364-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 11
7

+ 7
4

= (2) 17
18

+ 1
6

=

(3) 3
10

− 1
20

= (4) 1
21

+ 17
18

=

(5) 19
20

− 11
12

=

� 13th-note �



� No.364-5 �

No.364-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 11
7

+ 7
4

=
93

28
(2) 17

18
+ 1

6
=

10

9

(3) 3
10

− 1
20

=
1

4
(4) 1

21
+ 17

18
=

125

126

(5) 19
20

− 11
12

=
1

30
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� No.373-10 �

No.373-10 （ 点）（ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 5
4
÷ 1

6
= (2) 1

6
× 3 =

(3) 1
6
÷ 1

3
= (4) 5

4
÷ 3

2
=

(5) 3
2
÷ 3

4
= (6) 5

6
÷ 5

3
=

(7) 1
2
÷ 3

4
= (8) 5

6
÷ 5

2
=

(9) 5
6
÷ 4

3
= (10) 1

6
÷ 7

4
=

� 13th-note �



� No.373-10 �

No.373-10 （ 点）（ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 5
4
÷ 1

6
=

15

2
(2) 1

6
× 3 =

1

2

(3) 1
6
÷ 1

3
=

1

2
(4) 5

4
÷ 3

2
=

5

6

(5) 3
2
÷ 3

4
= 2 (6) 5

6
÷ 5

3
=

1

2

(7) 1
2
÷ 3

4
=

2

3
(8) 5

6
÷ 5

2
=

1

3

(9) 5
6
÷ 4

3
=

5

8
(10) 1

6
÷ 7

4
=

2

21

� 13th-note �



� No.373-20 �

No.373-20 （ 点）（ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 3
5
× 5

6
= (2) 5

2
÷ 1

6
= (3) 1

2
÷ 1

6
=

(4) 4
3
÷ 1

6
= (5) 1

6
× 3 = (6) 5

6
÷ 3

2
=

(7) 3
4
÷ 1

2
= (8) 5

3
÷ 5

6
= (9) 4

7
× 1

2
=

(10) 5
6
÷ 4

3
= (11) 3

4
÷ 5

2
= (12) 3

2
÷ 5

4
=

(13) 5
2
× 4

5
= (14) 4

5
× 5

6
= (15) 5

3
× 6

5
=

(16) 1
6
× 4

7
= (17) 6× 5

4
= (18) 1

6
× 4

3
=

(19) 1
2
× 6 = (20) 5

6
÷ 2

3
=

� 13th-note �



� No.373-20 �

No.373-20 （ 点）（ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 3
5
× 5

6
=

1

2
(2) 5

2
÷ 1

6
= 15 (3) 1

2
÷ 1

6
= 3

(4) 4
3
÷ 1

6
= 8 (5) 1

6
× 3 =

1

2
(6) 5

6
÷ 3

2
=

5

9

(7) 3
4
÷ 1

2
=

3

2
(8) 5

3
÷ 5

6
= 2 (9) 4

7
× 1

2
=

2

7

(10) 5
6
÷ 4

3
=

5

8
(11) 3

4
÷ 5

2
=

3

10
(12) 3

2
÷ 5

4
=

6

5

(13) 5
2
× 4

5
= 2 (14) 4

5
× 5

6
=

2

3
(15) 5

3
× 6

5
= 2

(16) 1
6
× 4

7
=

2

21
(17) 6× 5

4
=

15

2
(18) 1

6
× 4

3
=

2

9

(19) 1
2
× 6 = 3 (20) 5

6
÷ 2

3
=

5

4

� 13th-note �



� No.373-25 �

No.373-25 （ 点）（ 分 秒）

次の計算をしなさい。（１問 4点）

(1) 5
6
× 3 = (2) 5

2
÷ 5

4
= (3) 5

6
÷ 5

4
=

(4) 5
3
× 6 = (5) 1

4
× 2 = (6) 6

5
× 7

4
=

(7) 2
3
× 6 = (8) 5

6
× 3

5
= (9) 1

2
× 6 =

(10) 5
6
× 3

2
= (11) 2

5
× 3

4
= (12) 3

2
× 6 =

(13) 5
6
÷ 5

3
= (14) 3

4
× 1

6
= (15) 2

3
÷ 1

6
=

(16) 3
4
× 2

3
= (17) 2

5
× 5

4
= (18) 3

2
÷ 5

6
=

(19) 7
4
× 6 = (20) 1

6
× 3

2
= (21) 5

6
÷ 1

3
=

(22) 1
3
÷ 5

6
= (23) 2

5
× 1

6
= (24) 6

5
× 3

4
=

(25) 5
4
÷ 5

2
=

� 13th-note �



� No.373-25 �

No.373-25 （ 点）（ 分 秒）

次の計算をしなさい。（１問 4点）

(1) 5
6
× 3 =

5

2
(2) 5

2
÷ 5

4
= 2 (3) 5

6
÷ 5

4
=

2

3

(4) 5
3
× 6 = 10 (5) 1

4
× 2 =

1

2
(6) 6

5
× 7

4
=

21

10

(7) 2
3
× 6 = 4 (8) 5

6
× 3

5
=

1

2
(9) 1

2
× 6 = 3

(10) 5
6
× 3

2
=

5

4
(11) 2

5
× 3

4
=

3

10
(12) 3

2
× 6 = 9

(13) 5
6
÷ 5

3
=

1

2
(14) 3

4
× 1

6
=

1

8
(15) 2

3
÷ 1

6
= 4

(16) 3
4
× 2

3
=

1

2
(17) 2

5
× 5

4
=

1

2
(18) 3

2
÷ 5

6
=

9

5

(19) 7
4
× 6 =

21

2
(20) 1

6
× 3

2
=

1

4
(21) 5

6
÷ 1

3
=

5

2

(22) 1
3
÷ 5

6
=

2

5
(23) 2

5
× 1

6
=

1

15
(24) 6

5
× 3

4
=

9

10

(25) 5
4
÷ 5

2
=

1

2

� 13th-note �



� No.373-5 �

No.373-5 （ 点）（ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 1
6
÷ 1

4
= (2) 1

3
× 6

5
=

(3) 1
4
÷ 1

2
= (4) 4

3
÷ 5

6
=

(5) 3
4
÷ 1

2
=

� 13th-note �



� No.373-5 �

No.373-5 （ 点）（ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 1
6
÷ 1

4
=

2

3
(2) 1

3
× 6

5
=

2

5

(3) 1
4
÷ 1

2
=

1

2
(4) 4

3
÷ 5

6
=

8

5

(5) 3
4
÷ 1

2
=

3

2

� 13th-note �



� No.374-10 �

No.374-10 （ 点）（ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 21
20

× 7
6

= (2) 15
4
× 13

20
=

(3) 21
11

× 7
12

= (4) 20
9
× 7

12
=

(5) 6
7
× 11

12
= (6) 1

12
÷ 7

6
=

(7) 10
7
× 7

12
= (8) 7

12
÷ 1

8
=

(9) 5
4
÷ 3

8
= (10) 10

21
÷ 11

6
=

� 13th-note �



� No.374-10 �

No.374-10 （ 点）（ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 21
20

× 7
6

=
49

40
(2) 15

4
× 13

20
=

39

16

(3) 21
11

× 7
12

=
49

44
(4) 20

9
× 7

12
=

35

27

(5) 6
7
× 11

12
=

11

14
(6) 1

12
÷ 7

6
=

1

14

(7) 10
7
× 7

12
=

5

6
(8) 7

12
÷ 1

8
=

14

3

(9) 5
4
÷ 3

8
=

10

3
(10) 10

21
÷ 11

6
=

20

77

� 13th-note �



� No.374-20 �

No.374-20 （ 点）（ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 18
13

× 5
12

= (2) 5
18

÷ 7
6

= (3) 8
5
× 5

12
=

(4) 1
20

÷ 7
16

= (5) 3
5
× 10 = (6) 20

21
÷ 13

7
=

(7) 11
18

÷ 11
6

= (8) 12× 7
18

= (9) 13
8
× 12

5
=

(10) 6
7
÷ 19

21
= (11) 17

18
÷ 5

12
= (12) 10

21
× 14

5
=

(13) 12
5
× 11

6
= (14) 15

2
× 11

20
= (15) 5

12
÷ 5

18
=

(16) 2
15

÷ 1
5

= (17) 13
20

× 8 = (18) 5
14

÷ 2
7

=

(19) 13
16

÷ 11
12

= (20) 10× 4
5

=

� 13th-note �



� No.374-20 �

No.374-20 （ 点）（ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 18
13

× 5
12

=
15

26
(2) 5

18
÷ 7

6
=

5

21
(3) 8

5
× 5

12
=

2

3

(4) 1
20

÷ 7
16

=
4

35
(5) 3

5
× 10 = 6 (6) 20

21
÷ 13

7
=

20

39

(7) 11
18

÷ 11
6

=
1

3
(8) 12× 7

18
=

14

3
(9) 13

8
× 12

5
=

39

10

(10) 6
7
÷ 19

21
=

18

19
(11) 17

18
÷ 5

12
=

34

15
(12) 10

21
× 14

5
=

4

3

(13) 12
5
× 11

6
=

22

5
(14) 15

2
× 11

20
=

33

8
(15) 5

12
÷ 5

18
=

3

2

(16) 2
15

÷ 1
5

=
2

3
(17) 13

20
× 8 =

26

5
(18) 5

14
÷ 2

7
=

5

4

(19) 13
16

÷ 11
12

=
39

44
(20) 10× 4

5
= 8

� 13th-note �



� No.374-5 �

No.374-5 （ 点）（ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 11
6
× 12 = (2) 15

13
× 7

6
=

(3) 11
20

÷ 9
10

= (4) 7
20

× 12
5

=

(5) 7
16

× 12
7

=

� 13th-note �



� No.374-5 �

No.374-5 （ 点）（ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 11
6
× 12 = 22 (2) 15

13
× 7

6
=

35

26

(3) 11
20

÷ 9
10

=
11

18
(4) 7

20
× 12

5
=

21

25

(5) 7
16

× 12
7

=
3

4

� 13th-note �



� No.376-10 �

No.376-10 （ 点）（ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 5
3
× 11

6
× 9

5
= (2) 1

4
÷ 11

6
× 8

3
=

(3) 9
7
× 5

6
× 5

3
= (4) 3

8
÷ 5

4
× 5

6
=

(5) 8
9
÷ 4

3
÷ 7

6
= (6) 5

6
× 8

3
÷ 2

9
=

(7) 11
6
× 8

3
× 6

7
= (8) 7

6
÷ 7

3
÷ 5

4
=

(9) 5
6
× 3

2
÷ 3

4
= (10) 1

6
÷ 1

4
× 3

2
=

� 13th-note �



� No.376-10 �

No.376-10 （ 点）（ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 5
3
× 11

6
× 9

5
=

11

2
(2) 1

4
÷ 11

6
× 8

3
=

4

11

(3) 9
7
× 5

6
× 5

3
=

25

14
(4) 3

8
÷ 5

4
× 5

6
=

1

4

(5) 8
9
÷ 4

3
÷ 7

6
=

4

7
(6) 5

6
× 8

3
÷ 2

9
= 10

(7) 11
6
× 8

3
× 6

7
=

88

21
(8) 7

6
÷ 7

3
÷ 5

4
=

2

5

(9) 5
6
× 3

2
÷ 3

4
=

5

3
(10) 1

6
÷ 1

4
× 3

2
= 1

� 13th-note �



� No.376-20 �

No.376-20 （ 点）（ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 8
9
÷ 7

6
÷ 1

3
= (2) 2

9
÷ 5

3
÷ 11

6
= (3) 9

8
× 11

6
× 8

3
=

(4) 1
2
× 5

8
÷ 5

4
= (5) 7

3
× 11

6
÷ 7

9
= (6) 7

6
÷ 11

6
× 5

3
=

(7) 7
6
× 9× 5

3
= (8) 7

4
× 11

6
× 4

5
= (9) 1

2
÷ 5

4
× 7

6
=

(10) 7
6
÷ 1

4
÷ 1

9
= (11) 11

6
÷ 7

6
÷ 1

2
= (12) 7

6
÷ 1

9
× 5

3
=

(13) 7
6
÷ 1

6
× 7

3
= (14) 4

9
× 3

4
÷ 7

6
= (15) 1

6
÷ 7

6
÷ 7

6
=

(16) 6
5
× 5

4
× 8

9
= (17) 7

6
÷ 5

4
× 1

8
= (18) 8

9
÷ 1

6
÷ 2

3
=

(19) 1
4
÷ 11

6
÷ 3

8
= (20) 4

9
÷ 7

6
÷ 5

3
=

� 13th-note �



� No.376-20 �

No.376-20 （ 点）（ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 8
9
÷ 7

6
÷ 1

3
=

16

7
(2) 2

9
÷ 5

3
÷ 11

6
=

4

55
(3) 9

8
× 11

6
× 8

3
=

11

2

(4) 1
2
× 5

8
÷ 5

4
=

1

4
(5) 7

3
× 11

6
÷ 7

9
=

11

2
(6) 7

6
÷ 11

6
× 5

3
=

35

33

(7) 7
6
× 9× 5

3
=

35

2
(8) 7

4
× 11

6
× 4

5
=

77

30
(9) 1

2
÷ 5

4
× 7

6
=

7

15

(10) 7
6
÷ 1

4
÷ 1

9
= 42 (11) 11

6
÷ 7

6
÷ 1

2
=

22

7
(12) 7

6
÷ 1

9
× 5

3
=

35

2

(13) 7
6
÷ 1

6
× 7

3
=

49

3
(14) 4

9
× 3

4
÷ 7

6
=

2

7
(15) 1

6
÷ 7

6
÷ 7

6
=

6

49

(16) 6
5
× 5

4
× 8

9
=

4

3
(17) 7

6
÷ 5

4
× 1

8
=

7

60
(18) 8

9
÷ 1

6
÷ 2

3
= 8

(19) 1
4
÷ 11

6
÷ 3

8
=

4

11
(20) 4

9
÷ 7

6
÷ 5

3
=

8

35

� 13th-note �



� No.376-5 �

No.376-5 （ 点）（ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 7
3
÷ 1

6
× 5

6
= (2) 1

6
÷ 7

6
÷ 5

2
=

(3) 5
2
× 1

6
÷ 7

4
= (4) 3

2
÷ 7

6
× 7

6
=

(5) 3
2
× 5

6
÷ 11

6
=

� 13th-note �



� No.376-5 �

No.376-5 （ 点）（ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 7
3
÷ 1

6
× 5

6
=

35

3
(2) 1

6
÷ 7

6
÷ 5

2
=

2

35

(3) 5
2
× 1

6
÷ 7

4
=

5

21
(4) 3

2
÷ 7

6
× 7

6
=

3

2

(5) 3
2
× 5

6
÷ 11

6
=

15

22

� 13th-note �



� No.383-10 �

No.383-10 （ 点）（ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 1
4
− 1

6
= (2) 1

6
÷ 1

2
=

(3) 3
4
÷ 1

2
= (4) 4

3
× 6 =

(5) 5
2
÷ 7

4
= (6) 3

4
÷ 1

6
=

(7) 1
2

+ 1
4

= (8) 3
2

+ 3
5

=

(9) 3
4
− 1

2
= (10) 2

3
− 1

2
=

� 13th-note �



� No.383-10 �

No.383-10 （ 点）（ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 1
4
− 1

6
=

1

12 (2) 1
6
÷ 1

2
=

1

3

(3) 3
4
÷ 1

2
=

3

2
(4) 4

3
× 6 = 8

(5) 5
2
÷ 7

4
=

10

7
(6) 3

4
÷ 1

6
=

9

2

(7) 1
2

+ 1
4

=
3

4
(8) 3

2
+ 3

5
=

21

10

(9) 3
4
− 1

2
=

1

4
(10) 2

3
− 1

2
=

1

6

� 13th-note �



� No.383-10 �

No.383-10 （ 点）（ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 1
4
− 1

6
= (2) 1

6
÷ 1

2
=

(3) 3
4
÷ 1

2
= (4) 4

3
× 6 =

(5) 5
2
÷ 7

4
= (6) 3

4
÷ 1

6
=

(7) 1
2

+ 1
4

= (8) 3
2

+ 3
5

=

(9) 3
4
− 1

2
= (10) 2

3
− 1

2
=

� 13th-note �



� No.383-10 �

No.383-10 （ 点）（ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 1
4
− 1

6
=

1

12 (2) 1
6
÷ 1

2
=

1

3

(3) 3
4
÷ 1

2
=

3

2
(4) 4

3
× 6 = 8

(5) 5
2
÷ 7

4
=

10

7
(6) 3

4
÷ 1

6
=

9

2

(7) 1
2

+ 1
4

=
3

4
(8) 3

2
+ 3

5
=

21

10

(9) 3
4
− 1

2
=

1

4
(10) 2

3
− 1

2
=

1

6

� 13th-note �



� No.383-25 �

No.383-25 （ 点）（ 分 秒）

次の計算をしなさい。（１問 4点）

(1) 5
6
÷ 7

4
= (2) 5

3
÷ 5

6
= (3) 1

3
× 6 =

(4) 1
6
÷ 5

3
= (5) 7

4
− 1

2
= (6) 5

6
÷ 2

3
=

(7) 2
3
× 6 = (8) 1

2
− 1

5
= (9) 6× 4

3
=

(10) 4
3
− 1

4
= (11) 1

6
÷ 3

4
= (12) 5

4
− 1

6
=

(13) 1
4

+ 5
3

= (14) 5
2
− 1

4
= (15) 4

3
− 1

6
=

(16) 5
6
− 1

3
= (17) 5

4
+ 3

2
= (18) 1

4
÷ 5

2
=

(19) 6
5
× 1

4
= (20) 7

4
− 1

6
= (21) 5

6
÷ 1

4
=

(22) 3
2
× 1

6
= (23) 2× 5

6
= (24) 1

6
÷ 1

2
=

(25) 4× 3
2

=

� 13th-note �



� No.383-25 �

No.383-25 （ 点）（ 分 秒）

次の計算をしなさい。（１問 4点）

(1) 5
6
÷ 7

4
=

10

21
(2) 5

3
÷ 5

6
= 2 (3) 1

3
× 6 = 2

(4) 1
6
÷ 5

3
=

1

10
(5) 7

4
− 1

2
=

5

4 (6) 5
6
÷ 2

3
=

5

4

(7) 2
3
× 6 = 4 (8) 1

2
− 1

5
=

3

10
(9) 6× 4

3
= 8

(10) 4
3
− 1

4
=

13

12 (11) 1
6
÷ 3

4
=

2

9
(12) 5

4
− 1

6
=

13

12

(13) 1
4

+ 5
3

=
23

12
(14) 5

2
− 1

4
=

9

4
(15) 4

3
− 1

6
=

7

6

(16) 5
6
− 1

3
=

1

2
(17) 5

4
+ 3

2
=

11

4 (18) 1
4
÷ 5

2
=

1

10

(19) 6
5
× 1

4
=

3

10
(20) 7

4
− 1

6
=

19

12 (21) 5
6
÷ 1

4
=

10

3

(22) 3
2
× 1

6
=

1

4
(23) 2× 5

6
=

5

3
(24) 1

6
÷ 1

2
=

1

3

(25) 4× 3
2

= 6

� 13th-note �



� No.384-10 �

No.384-10 （ 点）（ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 5
12

− 1
20

= (2) 12
11

× 1
6

=

(3) 1
7
÷ 20

21
= (4) 3

14
+ 19

21
=

(5) 11
14

− 1
12

= (6) 13
18

+ 1
12

=

(7) 8
5
− 9

10
= (8) 1

4
− 1

6
=

(9) 11
12

+ 13
8

= (10) 5
6
− 5

14
=

� 13th-note �



� No.384-10 �

No.384-10 （ 点）（ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 5
12

− 1
20

=
11

30 (2) 12
11

× 1
6

=
2

11

(3) 1
7
÷ 20

21
=

3

20
(4) 3

14
+ 19

21
=

47

42

(5) 11
14

− 1
12

=
59

84
(6) 13

18
+ 1

12
=

29

36

(7) 8
5
− 9

10
=

7

10
(8) 1

4
− 1

6
=

1

12

(9) 11
12

+ 13
8

=
61

24
(10) 5

6
− 5

14
=

10

21

� 13th-note �



� No.384-20 �

No.384-20 （ 点）（ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 11
8
× 12

5
= (2) 4

15
− 2

9
= (3) 5

6
× 18

13
=

(4) 3
5

+ 7
4

= (5) 9
8
÷ 3

20
= (6) 9

8
× 8

21
=

(7) 11
12

× 20
3

= (8) 11
6
÷ 7

12
= (9) 20

21
− 5

6
=

(10) 21
17

× 5
14

= (11) 5
6
÷ 1

18
= (12) 14

15
− 11

12
=

(13) 7
5

+ 1
7

= (14) 5
8

+ 11
14

= (15) 8
7

+ 1
6

=

(16) 7
12

× 16
7

= (17) 2
9

+ 11
6

= (18) 6
7
× 8

9
=

(19) 1
21

+ 3
7

= (20) 9
14

× 7
5

=

� 13th-note �



� No.384-20 �

No.384-20 （ 点）（ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 11
8
× 12

5
=

33

10
(2) 4

15
− 2

9
=

2

45 (3) 5
6
× 18

13
=

15

13

(4) 3
5

+ 7
4

=
47

20 (5) 9
8
÷ 3

20
=

15

2
(6) 9

8
× 8

21
=

3

7

(7) 11
12

× 20
3

=
55

9
(8) 11

6
÷ 7

12
=

22

7
(9) 20

21
− 5

6
=

5

42

(10) 21
17

× 5
14

=
15

34
(11) 5

6
÷ 1

18
= 15 (12) 14

15
− 11

12
=

1

60

(13) 7
5

+ 1
7

=
54

35
(14) 5

8
+ 11

14
=

79

56
(15) 8

7
+ 1

6
=

55

42

(16) 7
12

× 16
7

=
4

3
(17) 2

9
+ 11

6
=

37

18 (18) 6
7
× 8

9
=

16

21

(19) 1
21

+ 3
7

=
10

21 (20) 9
14

× 7
5

=
9

10

� 13th-note �


